2528 Ty
IG BORE POWER CHUCK
SERERD - F ¢ 50 | KBASHAFR

o @ K

-

rlo

meta . mast MY . ZUEH MM YT e

AHONHI3 43M0d

-« High Gripping Force - High Speed - Light Weight - Durability
—-BWNMEES - SRMEER - BE(ER - AR
- EZhE - RER cBER - THEEHR

Dynamic Gripping Force/zh3& % H/BRUEENST 5 7/8H M M

6500

25000

18000 ‘

) i) )
2 [~ CAH-06 = 16000 = \ CAH-21
T 5000 o — CAH-12 mr 20000
or ™~ ar 14000 r \%
2 4000 212000 [ AT 2 15000 y
[ EEE— CAH-05 3 3
o — o 10000 CAH-15
o 3000 u 8000 T V o CAH-18 T
CAH-08/ R\ 10000 —
2000 6000 AH.32 \\
4000 5000
1000 2000 CAH-24
0 0
1000 2000 3000 4000 5000 6000 7000 8000 1000 2000 3000 4000 5000 6000 7000 500 1000 1500 2000 2500 3000
3|®4:(rpm) s|®4(rpm) 3|H4(rpm)
x 2ol Qe +HS RXI5H7| ol Z|4A L2s| 0|4 JRIAS FYEH0 TN,

X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

M\Spec.A}% : Thru-hole Jaw stroke | p - Gripping Dia(External gripping) | Max. permissible
Order N _O Spmc:llg nose (Diameter) (Diameter) ;;? %GLSEE :_‘i TjokA (| ATIHmm _input force
OHs xz2 DEA(RZ) BAEZIEZE) == 5 Az
ModelsAl T mm mm mm Max |c} Min &2 KN(kg)
CAH-05 1AHO05 - 33 54 10 135 10 17.5(1784)
CAH-06 1AHO6 A2-5 46 55 13 169 13 25(2500)
CAH-08 1AHO8 A2-6 52 76 18 210 " 40(4080)
CAH-10 1AH10 A2-8 77 85 20 254 31 50(5100)
CAH-12 1AH12 A2-8 91 10.2 24 304 34 58(5916)
CAH-15 1AH15 A2-11 118 10.6 23 381 30 71(7240)
CAH-18 1AH18 A2-11 118 10.6 23 450 30 71(7240)
CAH-21 1AH21 A2-11,15 140 10.6 23 530 87 90(9177)
CAH-24 1AH24 A2-11,15 165 104 23 610 110 90(9177)
CAH-32 1AH32 A2-15,20 240 18 34 800 152 100(10193)
Spec.AFY Max. static o Weight
I e ﬂ?x_?ei"}'ﬁij ?&efg (With standrd sof jaws) GD® ' Matching cylinder | Matching hard jaw | Matching soft jaw
Sl Mmmlored | S AISRIET T xmen | Moment of inertia SN o= RMEAE T
Ao Yxmlet £ p.m(min™) SY(EFATE 753 N-mr (Kgf.m) X 2Al2|h M2FIER MRAETE
Model&4l KN(kgf) o ko .
CAH-05 36(3671) 7000 6.7 0.7(0.071) YSH-YAH-05 HJ-04A1 SJ-05T1
CAH-06 63(6426) 6000 125 2.26(0.23) YSH- YAH-06 HJ-06T1 SJ-06T1
CAH-08 94(9597) 5000 22.3 6.67(0.68) YSH- YAH-08 HJ-08T1 SJ-08T1
CAH-10 125(12740) 4200 345 12.84(1.31) YSH: YAH-10 HJ-10T1 SJ-10T1
CAH-12 147(15000) 3300 55.3 28.71(2.93) YSH-YAH-12 HJ-12A1 SJ-12A1
CAH-15 180(18355) 2500 120 89.14(9.09) YSH-15 HJ-15T1 SJ-15A1
CAH-18 180(18355) 2000 164 174.6(17.8) YSH-15 HJ-15T1 SJ-15A1
CAH-21 234(23861) 1700 235 351.1(35.8) YSH-15 HJ-21B1 SJ-21A1
CAH-24 234(23861) 1400 293 651.2(66.4) YSH-15 HJ-21B1 SJ-21A1
CAH-32 240(24464) 1200 530 598.4(61) YSH-21 = =

www.kenyeriengineering.com


http://www.kenyeriengineering.com

Outward Drawing/MEYE/ MR/ 2 &8 =

SERRATION PITCH 1.5
(CAH-21,24,32 PITCH 3.0) v Q

u v .F—
> B

AMONHD H3Mod

BA
gC
9G
2H
oW
X

|

|

?J

Item&s :

Model8i4] A B C F G H J K L M N max N min
CAH-05 135 60 110 4 96 82.6 33 3-M10 15 14 26.5 238
CAH-06 169 80 140 5) 116 104.8 46 6-M10 12 20 B85 30.7
CAH-08 210 91 170 5 150 1334 52 6-M12 15 25 41.7 379
CAH-10 254 100 220 5 190 1714 77 6-M16 17 30 54.5 50.3
CAH-12 304 115 220 6 190 1714 91 6-M16 18 30 674 62.3
CAH-15 381 133 300 6 260 235 118 6-M20 30 43 82 76.7
CAH-18 450 133 380 6 320 235 118 6-M20 30 43 82 76.7
CAH-21 530 140 380 6 330.2 3302 140 6-M22 34 60 985 932
CAH-24 610 149 380 6 330.2 330.2 165 6-M22 32 60 1084 103.2
CAH-32 800 150 520 6 463.6 463.6 240 6-M24 31 38 5815 1445

Item&= ) :

Model&iAl Omax | Omin | Pmax = Pmin Q R S T U max Vv W X Y Z
CAH-05 19.75 7.75 1 -9 23 10 20 2 M40X1.5 3-M6 45 20 26 54
CAH-06 23 10 12 =1 31 12 19 2 M55X2.0 3-M6 60 20 33 72
CAH-08 27 10 16.5 -15 39 14 20.5 2 M60X2.0 3-M6 66 30 39 95
CAH-10 31 12 95 -105 44 16 27 2 M85X2.0 3-M8 94 30 46 110
CAH-12 42 12 10 -14 50 21 28 2.5 | M100X20 = 3-M8 108 30 518 11
CAH-15 438 18.3 11 -12 62 22 39 5 M130X20 | 3-M10 139 60 70 165
CAH-18 738 18.3 11 -12 62 22 39 5 M130X2.0 | 3-M10 139 60 70 165
CAH-21 875 215 11 -12 65 25 39 5 M155X30 | 3-Mi2 170 80 73 180
CAH-24 1175 215 20 -3 65 25 40 5 M175X3.0 | 3-M12 187 80 73 180
CAH-32 190.6 19.5 29 =5 75 255 40 10.4 | M250X3.0 & 3-M12 | 260 80 83.6 160

% x4 2 Alge olmglo] WA 4 UsLIct

% Specifications are subject to change without notice.

Model Description/Z! 25 Bf/BAF SRR/ AHS HAl

CAH 01 -] CGH O -] CAS O -0 AO

{ Chuck Size Chuck Size i Chuck Size Spindle Nose
Blank | Standard Blank | Standard Blank | Standard
A | adapter type A | adapter type A | adapter type
T | 2-jaw type T | 2-jaw type T | 2-jaw type

D | Direct mount type

www.kenyeriengineering.com


http://www.kenyeriengineering.com

g HEH(8AERT)
PEED BIG BORE HYDRAULIC (Long Stroke)
2 LR Y Y 8- [ BRELIBET

o O

)

L1
LB 1
v u ij L4 a
i o ©
Sl |2 .
| [ @
— 5 5
e
NG

L8
L1

L7 Lo
L12

L10

=L

« Highest Draw Pull

- AYs s - UM =E - SRYK| LAHI(ESSE:0172805)

=« Compatibility + Small Size & Light Weight - Safety Guaranteed - Leakage Prevention Design

- 38y 48

- BRI <UL B8t - ek - PR RTER) <R3 2&KHD
-« KPFHSM - AN BEEBR - RiERe - DRI EAEM:0172805) - EHFEK

T
_<
o
ey}
>
cC
C
@
0
<
C
Z
O
m
X

X ol Z1 L= HEX[0| FF
¥ Maximum turning speed is based on actual measurment,

Specifications/M & /{1 EFR/ AL E

I oo, | Qe | Pomae | Taiele | AR 4 35 K
odaT - mm mm mm Push 2= Pull 01 Push 2= PuIl 01=
YSHL-15 | 2SHL15 250 50 1175 364.4 3318 129.8(13233) | 118.2(12050)
YSHL-21 2SHL21 280 51 166.5 3721 327.1 111.5(11376) 98(10002)
YSHL-32 2SHL32 390 51 240 683 643 101.4(10245) 95.4(9645)
WMSDeC-AF‘é Max. operating pressure | Max.permissible speed Total leakage Weight GD? .
FIAE Y F0AZ3 M4 Scofol =2 Moment of inertia Ma‘cﬂj’g,ghuc"
Model&Al kaf/c r.o.m(min™) 2 /min kg N (kgf. ) Rk
YSHL-15 408 3000 7 52 18.6(1.9) CAH-15,18,24
YSHL-21 336 2000 84 77 29.43(3) CAH-21,24
YSHL-32 25 1500 18 135 39.2(4) CAH-32

Dimension/R~t/TER/A ¢+ &

el B D D E F G H J K M N 0 P Q
YSHL-15 | 307 | 275 | 275 | 230 | 170 | 140 | 123 | 216 | 167 | 152 | 122 | 1175 | 175 | 256
YSHL-21 | 354 | 290 | 345 = 260 = 240 | 190 | 170 | 278 | 217 | 205 | 1705 1665 175 | 256
YSHL-32 | 454 | 420 | - | 320 | 280 | 265 | 243 | 358 | 297 | 285 | 2505 | 240 | 255 | 330
e B L2 L3 L4 L5 L6 L7 L8 L9  LiOmax LiOmin Lifmax L11min
YSHL-15 | 1685 | 185 | 129 20 45 | 985 6 190 | 76 26 46 -4
YSHL-21 | 1825 | 185 | 139 20 45 | 985 5 200 | 763 | 253 | 5 0
YSHL-32 | 186 | 185 | 138 5 20 45 | 985 5 213 | 76 25 50 -1
T L2 L3 L4 L5 L6 T T2 T3 T4 T5 T6
YSHL-15 | 241 | 140 | 40 | 215 | 50 | 12-M16X32 | M124XP20 | M111XP20 | PT-1/2 | 4-MBX10 | 8-M12X140
YSHL-21 | 2595 | 1726 = 40 | 255 | 55 | 12-M16X32 MI8OXP30 K MI73XP20 = PT-1/2 | 4-MBX10 | 12-M12X150
YSHL-32 | 277 | 214 | 40 | 332 | 58 | 12-M16X40 | M250XP30 | M253XP20 | PT-1/2 | 6-MBX15 -

x x4 9 A2 ofnglo] HEE 4 gL

% Specifications are subject to change without notice.

www.kenyeriengineering.com


http://www.kenyeriengineering.com

gaE S
COOLANT COLLECTOR
o5y bavsa- | AHEKES

— o« &AL

MAQ B4 - MRID &S

[

ton

— -+ Coolant Collection - Checking Cylinder operation
- PHPRER - 2V v X —{FEA D

- WELHR - RNDAE B EIET

T
=<
g
ny
>
C
—
(]
]
2
-
Z
g
m
By

35

$33 1.6 Z1 z2

<CATYPE> <CCTYPE>

Dimension/R /4 EXR/X ¢ 1

T L T T2 T3 T4 T5 Z1 72 Matching Cylinder/& 241214
CA-06 90 88 994 9121 61 745 365 YSH/YAH-06
CA-08 100 100 106 $132 67 795 365 YSH/YAH-08
CA-10 126 $125 132 158 80 845 37 YSH/YAH-10
CA-12 142 9143 9154 $180 95 88 37 YSH/YAH-12

CSG-08 142 143 9154 9177 925 88 37 YSGH-08
CG-10 142 $133 9154 9177 925 88 37 YGH-10
CS-15 190 $ 185 $186 $210 1175 102 35 YSH-15

T L T T2 T3 T4 T5 Z1 22 Matching Cylinder/& 2412I{
CC-06 155 $88 ?90 = 65 92.3 34.3 YAH-06
CC-08 155 100 $90 - 70 99.8 M8 YAH-08
cc-10 200 $125 150 - 100 1468 618 YAH-10
CC-12 200 143 150 - 100 146.8 618 YAH-12
CC-08 155 $143 $125 - 97.7 97.3 393 YSGH-08
CC-12 200 165 $125 - 102 1523 67.3 YGH-10
cc-15 190 9185 $ 150 - 117 1428 64.5 YSHL-15
cc-21 235 0248 $ 205 - 133.1 1428 64.5 YSHL-21
CC-32 285 $328 $ 305 - 169.7 132.8 55 YSHL-32

% Rl 2 ARSE o mgjo] HEE 4 JGLICH
% Specifications are subject to change without notice.

Cylinder Size Cylinder Size

www.kenyeriengineering.com


http://www.kenyeriengineering.com



